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Physical Education

Paper 1II

IHiReR forer
gyAutreht 11

Time Allowed : 120 Minutes]
Note

[Maximum Marks : 200

: This Paper contains Hundred (100) multiple choice questions. Each question

carrying Two (2) marks. Attempt All questions.

U SRd. @d U Wi

: I GEAUREE THU SiUT (100) TgTart w9 feorel sed. Yodish UeAren 2 (2)

Which of the following is not a
scheme program by SAI for sporting
talent ?

(A) NSTC
(B) SAG
(C) SGFI
(D) SPDA

Which of the following are the levels
of programmed instruction ?

(1) Memory level

(2) Understanding level
(3) Observation level
(4) Recollective level
Codes :

A) (1), (2), (3)

(B) (2), 3), 4)

(© 3), 4), (1)

D) (1), (2), (4)

SIS a9 INemdal (9E) YRAT B
TR TOm= ETeicTdeh! hIvTdl  FTSiT
e ?

(A) TIEHE

(B) wEUS

(C) THSIUHSA

(D) THdrET

TSR ST WGTeTieh! ShIvId WX

;e ?

(1) Hfd w1
(2) MY &N
(3) T &
(4) fom R
Hehdieh :

(A) (1), (2), 3)
(B) (2), (3), (4)
€ 3), 4, (1)
D) (1), (2), (4)

[P.T.O.



Philosophy of Experimentalism has

given rise to :

(A) The basic theory of curriculum

(B) The realistic theory of
curriculum

(C) The instructive theory of
curriculum

(D) The make shift theory of
curriculum

Which of the following was the first

to facilitate the introduction of

Modern Physical Education in

schools ?

(A) The plan of physical education
and recreation

(B) N.C.E.R.T. syllabus

(C) National Fitness Corps

(D) National Policy of Education,
1986

Activity based tools of teaching

are :

(1) Exhibition

(2) Demonstration

(3) Slides

(4) Musical instruments

(5) Tours

Codes :

(A (1), (2), (3), 4

B) 1), (2), 4), (5)

©) 2), 3), 1), (5)

D) 3), 4), (5), (D
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TARTERTA TERERT © W el 2

(A) AIEHAT HAYd 3T

(B) SIEHAT IRadG! Sq9

(C) SATGHA IYGIMHE ST

(D) AWEHRHATAT  dqd  HIvATH]
EEEki|

A MY STk IRes frgrom=n

TYRY IV WCAcTIeh! UM T 3T7E ?
(A) TARSH smfor iR freror A
(B) TAHIZTE UISdshH

(C) U™ W3R T

(D) U e =S 1986
ST HiagHl e STeTadshiR
e

1) 9

(2) wrafah

(3) UReEl waTH

(4) & STl

(5) St

Hehdlah :

A) (1), (2), (3), 4

(B) (1), (2), (4), (5)

(C) (2), (3), (4), (5)

D) (3), (4), (5), (1)




Which of the following is an apex
body for promotion of sports in the

country ?

(A) LNCPE
(B) NSNIS

(C) Khelo India
(D) SAI

Which of the following is not

considered in lesson planning ?
(A) Age and sex

(B) Progression

(C) Warming up

(D) Teacher experience

Which of the following activities
emphasizes use of a locomotor

skill ?

(A) Galloping to music
(B) Catching a rolled ball
(C) Swinging from a bar

(D) Pivoting to catch a ball
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TRATA T HIETed SO @eierdeht
forer g HIoRdt ?

(A) TETTTErE

(B) TTTHUASTETH

(C) Ban gfean

(D) wE

ECACUeh! I a6 Jer=A1 e
Iq A& ?

(A) =7 anfor fem

(B) =&t Sioft

(C) 3ISsh gleA=Te

(D) STEATIHRTET TS

qETdsh! HIVAT IUHH TR

ST IYANMER. W ed 2

(A) TIArAT dreel TAdiT Shau]

(B) =T ATAAT ol Al

(C) IRE Wiehagul irehl Hor

(D) sicen g faegife o

[P.T.O.



10.

Which one of the following is not a
characteristic of an effective PE class
climate ?

(A) Providing feedback

(B) Giving freedom to choose
designated learning task

(C) Long waiting time
(D) Small sided games

Match the List I with List II and select
the correct answer from the codes
given below :

List I
(@) Developmental exercise
(b) Games
(¢) Rhythmics
(d) Aquatics
List II
(1) Lead up games
(2) Synchronised swimming
3) Yoga
(4) Skipping
Codes :
(@ B) () (@
A @ @O @) O3
B @ @O Q) @
©e 3 @O @ @
D B @ @) @

9.

10.

JUN - 71220/11—C
qereien! Il Tored gt 9 fa.
TR TSt 2
(A) T <0
(B) Ydfafy=a e wmf=t frae

HLOIE WA
(C) <" wfqen wrermasd
(D) SN FEid ©s

IR 19 IRt 1 Jad @i
Gehdieqd ara @ faer

RICU |
(@) TowEHSR HELA
(b) W

(¢) dIcTdlG AT

o

S [Sll

(d) ST

Tt I1
1) I @z
(2) THHHd dre
(3) M

o

(4) SRIe= ISl
Hehdieh :

(@ b)) © @
A @ O @ @
B @ @O 3 (@
) 3 O @ @
D &) @ @ @




11.

12.

13.

What kind of health education shall

have ready acceptance and

voluntary following in all sections of

the society ?

(A) Theoretically strong health

education

(B) Government sponsored health

education
(C) A need based health education
(D) A well charted out health

education

Which of the following is not a
preventive approach for substance

abuse ?

(A) Legal

(B) Educational
(C) Communal
(D) Community

The inadequacy of which of the
micronutrients can lead to colour

blindness in the human beings ?
(A) Iodine

(B) Chlorine

(C) Vitamin-A

(D) None of the above

11.

12.

13.
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SV W fneonen IS |

faumTqa 3R wihdl o U dedes
faesd 2

(A) Tagifaer woem e fago
(B) TR HEISa @reeq fererm
(C) TS ofenia Tarees fenero

(D) TRAf sifererrged Tomeea forerm
TTATTUeh! hITdt 3o TRETR 2resudreit

PINERIRECTRE I |
(A) PRI

(B) wieiforen

(C) wraTfash

(D) T

I G&H U HEehTeA TS
AT T ST A ?
(A) eTife

(B) =il

(C) fterTere -1

(D) =ieTient =hIvaEl el

[P.T.O.



14.

15.

16.

17.

Which nutrients are essential for
growth and repair of muscle and

other body tissues ?

(A) Proteins

(B) Minerals

(C) Roughage

(D) Vitamins

Obesity does not cause :
(A) Infertility

(B) Malaria

(C) Diabetes

(D) Ischaemic heart disease

Health means maintaining..............

in some factors.

(A) Continuous movement
(B) Continuous balance

(C) Continuous priority

(D) Continuous modification

Name the disease which is
categorised as psychosomatic

disease :

(A) Diabetes
(B) Asthma

(C) Tuberculosis
(D) Smallpox

14.

15.

16.

17.
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RIUTAT HTTehavales IR a1 T
9 TR IR A gesdt A 2

(A) "o

(B) @fs

(C) =

(D) SiterTERe

(A) ST
(B) feaama

(C) AYiE
(D) W AYE §gF fa&R

(C) Had 3fushH

Iffehd el Sl
(A) AYHE
(B) &m0
(C) HerM
(D) ==k




18.

19.

20.

By what method do children, in the
first instance, acquire habits of

personal cleanliness ?
(A) Classroom instruction
(B) Interaction with peers
(C) Constant observation
(D) Literature study

Which of our needs does recreation

not satisfy ?

(A) Wealth need

(B) Need for affiliation
(C) Achievement need
(D) Aesthetic need

Which of the following activities

cannot be treated as recreation ?
(A) Collecting coins

(B) Angling

(C) Sitting

(D) Hiking

18.

19.

20.
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SfoRTeh ook e ScTehiHe Haedl

TS HAgAH HHOS ga| ?
(A) T =
(B) fimeia Harg
(C) fiteror @

(D) aTEHE A

SRV STIET TS ARSI |18 Bl
e ?
(A) U<l RS

(B) He=rehLum=l TS
(C) WM RS
(D) FieAruaEr= TRel

EATAUeh! ShIveT TR eI T ARSI

ed oRAl AR AT ?
(A) i HIE

(B) HE &Rl el
(C) =0

(D) THIHh

[P.T.O.



21.

22.

Aim of sport training......................

(i) Physical fitness or conditioning
(i1) Technical skill

(z11) Tactical efficiency

(iv) Education

(A) (i) and (i7)

(B) @), (1) and (iv)

(C) @), {1, (i) and (fv)

D) @), @) and (i)

Characteristic of sports training

(A) Planned and systematic

(B) Demonstration

(C) Participation

(D) Doping

JUN - 71220/I1—C

(iii) STAU=CHS RIS
() Teremon

(A) () 3T (i)

(B) (i), (@) 3 (Gv)

(©) @), Gi), (i) 307 (iv)

D) @), (@) o (iii)

A) ffsa enfor ggasix
(B) drcafarsh
(C) HgHmr

(D) =i

10



23.

24.

Match List A and B and select the
correct option from codes given below :

List ‘A’
(1)
(2)
3)
(4)

Weight training work-out
Cardio workout
Stretching workout
Holding

List ‘B’
(@) Core
@) PNF
(i11) Aerobic
(fv) Anaerobic
Codes :

L @ B @

(A) (v) @)
(B) @) @v)
(C) @) ()
D) @ @)

@) @)
@@ @
) @)
@) (v)

Calculate the THR at 75% intensity
for a 22 year old handball player
whose RHR is 60 bpm and who
wants to perform 30 min cardio
activity.

(A) 150 bpm
(B) 163.5 bpm
(C) 161.5 bpm
D) 159.5 bpm

23.

24.

JUN - 71220/I1—C

IET A 7for At B Sezan STfon Wt
Hehalhlqd ard 9 g faer

Th
(1) ¥R gt &
(2) wHIfett HE
(3) Ul W HE

L @ @ @

(A) (v) ()
(B) @) (v)
(C) @) @)
D) @ @)

@) @)
@) @)
(v) @)
@) (@v)

22 o8 Al Uil WeargH fasdt
B[ ged &L 60 Breh Ui A 3TgH
T 75% g 30 Thfe wifesisusa
FEA 3Te. IS 3TUfEd §ed T Sl

(A) 150 26 fd fafte

(B) 163.5 3 ufd fafe
(C) 161.5 3Jrh ufa fafte
(D) 159.5 3Jrh ufa fafte

11

[P.T.O.



25.

26.

27.

The objective of flexibility training

is to improve the range of movement

(A) Agonist’s muscles
(B) Bulky muscles

(C) Protagonist muscles
(D) Antagonistic muscles

...................... form of training that is
most commonly used to improve

muscular strength and endurance.
(A) Plyometric training

(B) Core training

(C) Cross training

(D) Weight training

In training, load is not always given
for improvement but also for...........

of performance capacity.

(A) Conditioning

(B) Development

(C) Maintenance and stabilization

(D) Progress

26.

27.

JUN - 71220/I1—C

"""""""" = T fodRI R §

SELCET IR LI S AR
(A) STT=Y Y

(B) seehl Y

(C) URrfTe R

(D) Sferiees Fr

T dTehe S0 SHERIOT=AT YR
ITFTT BT A HTHTT  gTereT0T

(A) =EHgR grerero
(B) Ty gfereor
(C) sig wfereqon

(D) YR gfereron
FIRIGTOTHE, YR 8! ekl GURUEE

ST T HRAH AT

feam S

(A) Gfeerd

(B) foremd

(C) Wil 7o w4
(D) Wt

12



JUN - 71220/I1—C

28, is the relationship | 28. Wk =@ o7for AUl =@ ATdTA
between load phases and recovery TEE TS
phases.

(A) ¥ oA
(A) Load density .

(B) YR arEmrn
(B) Load frequency
(C) Load intensity (C) ¥R
(D) Load volume (D) R ST

29. Causes of over-training................. 29. rdl-wfererome shRoy
(I) Recovery is neglected (I) YAuiwihe gae
(I) Inappropriate increase in (II) 931 aRErad 3EE d1e

frequency of trainin

ueney . (1D wafe sAfafted g
(ITI) Excess of competitions .
(IV) SR80 gt SATf0T Sreehifersrat i

(IV) Excessive bias. of training : f

methods and units
(A) (III) and (IV) (A) (11D (V)
(B) (D, (D), (ID and (IV) (B) (D, (D), () sr IV)
(C) D), () and (IIT) (C) (D), (1) s (11
(D) (IV), (II) and (III) (D) (aV), (D) eufor (I1I)

30, e, is an athlete’s ability to | 30. g dedt, IvEIRe, T fhaM
choose and perform the right TS A T g SR v
technics, at right time, successfull

) g o y aﬁw 9;'|'l:|?|'[ m .....................
regularly with minimum of effort. o
(A) Load (A) WX
(B) Style (B) el
(C) Skill (C) ®rTa
(D) Judgement (D) e
13 [P.T.O.



31. Match the columns and select code :

List I
(1) Developmental research
(2) Longitudinal research
(3) Cross-sectional research
(4) Correlational research
List II

that

relationships among variables.

(1) Research explores

(i) Study of changes in behavior

acCross years.

(zii) Research in which the same
participants are studied over a

period of years.

(tv)

Research in which samples of
participants from different age
groups are selected in order to

assess effects of maturation.
Codes :
L @ B @
A) @) G@v) @) @)
B) @) @) Gv) @)
C) @ @ @) ()
D) @) @) @ i)

JUN - 71220/I1—C

31. WY oo IFY Hehdleh fHaIel :

wy 1
(1) fawmEcas 9eneE
(2) I@EAE HeiEA
(3) WK GeNed
(4) TEHEUHS GINeH
wy 11
() fafay scmsia Geass e
Sl TINEA
(i) 3™ TOid BIUMT=A1 Fdqecdrdl
A
(i) TF IET=AT FTATAENd ThTH
yfaaEeReR el SR Geied

(iv) fafay sErEda gfaaes e

iRgrId TR TIEUEEET shetl
ESNIEE

Hehdich :
n 2 6 @

A) @) Gv) @) @)

B) @) @) Gv) @)

(C) G) @) @G (o)

D @ Gv) @ @)

14



32. A constant variable can take

33.

values :

(A) Zero

(B) Fixed
(C) Not fixed
(D) Nothing

“In the thesis
introduction, the researcher takes

preparing

multiple sentences verbatim from
some of the sources.” In this case
researcher is :

(z) Wrong to do so

(i1)) Wrong even if the researcher
provides a reference at the end
of the paragraph

(z11) Right if the researcher provides
a reference and a citation

(tv) Right if the researcher gives
reference and the long
quotation is indented half an
inch from the rest of the text.

(A) Statements (i), (ii) and (iii) are
true

(B) Statements (i), (ii) are true and
(ii1), (iv) are false

(C) Statements (i), (i1), (fv) are true
and (iiz) is false

(D) Statements (1), (it) are false and

(zir), (iv) are true

32.

33.

JUN - 71220/11—C
feor 9« o9 o9 319d

(A) I
(B) fAf¥=a

(C) 3THfY=a
(D) == A&

“gyniea geEmEt gEraAT fatear

HIMeeh AT T Teuiq e faem

yrseyT:/daidd wdt.’’ I mEHed

TINRT

() S HO gH AR

(i) TR SAFArE Sfdl Ged fae
TE o 0 TH 3T

(iii) GINeTHRM Iaramed el @9
TegHiael ¥eY 0 SR I

(fv) FeNEeR™ Ggd <0 3T HeX 3Sam

SR AN %39 R (W) died

fafeor

faum 1), (i) 9 (i) TF TR

(A)

(B) faum (), (i) 9 1ed 9 (i), (iv)

ITH 3T

faum™ (@), (i7), (jv) I 3T 9 (47)
I AR”

faam (), (i) 39 3Rd 9 (i),
(jv) T 3TRd

(©)

(D)

15

[P.T.O.



34. In SPSS which menu item contains

35.

36.

the split file and select cases

command ?

(A) Data menu

(B) Transform menu
(C) Analyze menu
(D) Variable menu

A form of research in which the
researcher attempts to understand
how one or more individuals

experience a phenomenon :
(A) Grounded theory

(B) Ethnography

(C) Case study

(D) Phenomenology

In a study, participants are recruited
from local schools in urban area. The
study is conducted on saturday so

only the saturday working school
take part. What type of sample is
this ?

(A) Cluster sample
(B) Stratified sample
(C) Random sample

(D) Convenience sample

JUN - 71220/I1—C

34. THUTHTH He hv HgHE fewre

35.

36.

Fec] 9 hild HAS IS AT STHA ?
(A) ST 3

(B) g

(C) steEs =

(D) =eftTee 7=

T fohal e T TEET ST 30
HIWEA & FHSTUAHIS! hefeal HeNeAr=
YT

(A) UTES 3
(B) TEHIUTHI

(C) =¥ el

(D) TSIt

TehT GYNEATd I8 ATel Terfeh
et gfqEResi= FHE/ e
FOAG Al B SAYAE THh HART
SHLTATA ST THTHos AR =e] STHIT
IMeBE HEHFT 3% Thedl. § HIved
eyl YR SeTElul 3T ?

(A) T=B =eY

(B) WG =Ies

(C) agfoaew el

(D) THRTA e

16



37.

38.

39.

Multistage cluster sampling is

helpful when :

(A) The population is widely

dispersed geographically

(B) You have limited time and

money to travel for research

(&)

You want to use probability
sample in order to generalize

the results
(D) All of the above

A correlation of or around zero can
be interpreted as which of the

following ?

(A) A curvilinear relationship is

present
(B) A linear relationship is present

(C) It could mean either no

relationship or curvilinear one
(D) No relationship is present

Setting the P value at 0.01 increases

the chances of making a :
(A) Type I error

(B) Type II error

(C) Type III error

(D) None of the above

37.

38.

39.

JUN - 71220/11—C
TEERIT o0 =AY Ugd o1 aRfeerdid

EEREECERE
(A)

N N o N oA J
9—|I‘IIIQ’|°hC§_‘>d‘(’-II EECNGIS IS B SECE]
STHA™H

(B) qH=The HAIGd da3 o HYNEH
JATEEEST HAifeq ATfefeh s

LA™

o [N fa fa
[AbenBie  HIHI[[en V[ nUdq[AH[S]

Y ey T A9
(D) ARt |el

©)

HeHaY od I Tha Y= Seead

AT =1 31 Sk Al ?

(A) THIT oy STfEdeand e

(B) THEE Hay e oTg

(C) Ir=n 1Y RIUATEl ToY AR STE

IR HaY 3T@osdl

(D) HIVCET ToY 3Esd el

N

P’ Hed 0.01 3%k e sheamd shem=i
HerT ded ?

(A) TE9 1 F2
(B) =g II 3
(C) =& III Fet

(D) S{ieTieh! hIvde! &l

17

[P.T.O.



40.

41.

If the standard deviation of
population is 9, the population
variance is :

(A 9
(B) 3
C) 21
(D) 81

Match the following physical fitness
components with their respective
test :

List I
(@)
)
(c)
d)

Cardiorespiratory fitness
Strength
Agility
Power
List II
Side step test
Medicine ball throw

(1)
(2)
3)
(4)
(5)
Codes :

(@)
A )
B) 5)
© @
D) 3)

Harvard step test
Pull ups
Bridge up

(b)
(1)
(2)
3)
(4)

(c)
(2)
4)
(2)
(1)

(d)
4)
(1)
%)
(2)

40.

41.

JUN - 71220/I1—C

SHEEIE yH foaed 9 (%) 199
SHOE foued sae o 8d

(A) 9
(B) 3
(C) 21
(D) 81

e RN ggedl Sl Tl
FHARAERER A Siedl el :

RICU |
TR ggedt
(b) TR
(c) Teemfye
(d) R

(@)

Tar 11
e W9 AR
nfefaa sfa 4@
Bele W9 Rl
(4) qo T
(5) forst 219
Hehdiah :
(@)
A) 3)
(B) (5)
(C) (M
D) 3)

(1)
2)
3)

(b)
(1)
(2)
3)
(4)

(c)
(2)
(4)
(2)
(1)

(d)
(4)
(1)
(%)
(2)
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42. Select the correct answer from the | 49 Eefia gafada TT=n A7g ===

choice given below : frae 7

(I) Different activities in physical .
D) iR e fafay Sy

education cannot be measured

AT Sseutl & T ATEl

objectively

(alla

(II) Tgffeeed 2ot oSl STRfl T[umeh

(IT) Rating scale defines a scoring

UGt SATHes a&(T58 HTIHTIA
system to help make objective

oo

RIS HLUIH HASd Bl

evaluation more subjective

A 1) snfn (1) ¥ =R
(A) Both (I) and (II) are correct (B) <= D (In @ STe

(B) (I) is correct and (II) is wrong (B) (I) sRsR 21 efor (1) =% 3T

(C) (II) is correct and (I) is wrong (C) (II) seR 3118 7o (1) <k 378

(D) Both (I) and (II) are wrong (D) = (1) smfor (1) 9 3T
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43.

Below are the norms of Bent knee
sit ups. Measurement of 21-year men
is 31. What is the interpretation of
this measurement ?

Men
Age 10-19 20-29 30-39
Superior 61 Above Above 54 Above 51
Excellent 51-61 47-54 43-51
Good 47-50 42-46 39-42
Average 41-46 3841 35-38
Poor 36-40 33-37 30-34

Very Poor Below 36 Below 33 Below 30

Women
Superior 54 Above Above 50 Above 41
Excellent 46-54 44-50 35-41
Good 36-45 38-43 29-34
Average 32-35 32-37 25-28
Poor 28-31 27-31 20-24

Very Poor Below 28 Below 27 Below 20

(A) Abdominal
endurance is average

(B) Abdominal
endurance is excellent

(C) Abdominal
endurance is very poor

(D) Abdominal
endurance is poor

strength and

strength and

strength and

strength and

JUN - 71220/I1—C

43. A hrewhmY e M fqesr waRN

e feiedt 3R, 21 9% @ geur

M 31 A9 e A a=H &

KAl
e 10-19 20-29 30-39
HEITI@Q 61 Above Above 54 Above 51
Kiv 51-61 47-54 43-51
=T 47-50 42-46 39-42
TR 41-46 38-41 35-38
HHt 36-40 33-37 30-34
I HH  Below 36 Below 33 Below 30

AfgeT
TATHE 54 Above Above 50 Above 41
Kiv 46-54 44-50 35-41
=T 36-45 38-43 29-34
HER 32-35 32-37 25-28
HHT 28-31 27-31 20-24
Ta HH Below 28 Below 27 Below 20

(A) TR dlehe AT SHERTON FTERT
3T

(B) WieTdial drehg  STTTUT THSRYUM

TR oM

(C) dIerdiiel kg S0 SHERYUT T
HHAT 38

(D) TR dehe A0 SHERYON ShHT
3T




44.

45.

46.

The meaningfulness of a sports skill

test lies in its being :

(A)

Measured in a game like

situation
(B) Highly valid
(C) Extremely reliable
(D)

Representative of sport

When same test administered on
same sample by two different

administered is called.....................
(A) Validity

(B) Reliability

(C) Objectivity

(D) Norms

What do psychological tests attempt

to measure ?
(A) The total person

(B) Specific set of attribute of the

person

(C) Characteristics of psychic

nature

(D) All of the above

45.

46.

JUN - 71220/I1—C

YU WA HESIE SR
(A) Tyt gRftedme 794

(B) 3=9 a¥

(C) Td favaga

(D) Tesr=l Fara HIomT

SISl Uehd Hhule! Uehld EeR
AT SHaEATIhTATRT  Jefaett Sid
N — P —

(A) dgar

(B) forgerrraran

(C) =rgfea

(D) A

TAEYTET FEea 61 AT FI

FaE ?
(A) HqUi =K

(B) =eritean Turgmien fafdre 9=

(C) AMfEs WyEr dfyreg

(D) ATt T
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47.

48.

How well the item differentiates
between the good student and the

poor student is called......................
(A) Item discrimination

(B) Item difficulty

(C) Item revision

(D) Item consistency

What is the appropriate sequence of

administering psychomotor test ?

(1)

Develop a test schedule

2)

Interpret test result

(3) Provide all

necessary

equipments

Administer the test item

4)
Codes :

(@ ) (© (@

A @ QO @ O)

B) 3 @ @O @

© 1 3 @ @

D 1 & @ @

47.

48.

JUN - 71220/I1—C

TR formedt 3 et g forenet ey

yeq foRdl =mTelt fa=rar <vifaar <mw

(A) T YSHTEeTHdl

(B) USATEl hifSuaardadt

(C) T A

(D) YA dracd

ek hHYAE ALY FHIAATET A

%Y HIUET ?

(1) HEeI™ Jaasleh foehfdd e
(2) wEETA et sreife=m o
(3) oTavas wd Hifed qau

(4) FHEHEI™ FAEAYT HI0!

(@ b)) @ (@@

A @ @O @ O

B 3 @ @O @

© 1 3 @ @

O 1 & @ @
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49. Which of the following is not site for | 49. gcamﬁqﬂ SIT SR/ fehThies
skinfold measurement ? HOEEY e ?
(A) Subscapular (A) Wﬂ?ﬂ
(B) Suprailiac (B) m
(C) Shoulder (C) vieex
(D) Abdominal (D) e
50. Which of the following is not 50 FRF FIeTTS STIETIT FHIATH]
affecting measurement while WWWWW
administering psychomotor test ? o A ?
(A) Clothes (A) OIS
(B) Scoresheet (B) IS
(C) Subject’s emotional state (C) Toemeat=it vafter e
(D) Test knowledge (D) HARE IH
51. Which one of the following is an | 51. GTeTedehl SIVA Teh HIAYCIH &4
example of a performance goal ? T ?
(A) To win the competition (A) T fSF
(B) To improve your technique ®) _iq_tﬁ o EW
(C) 3Tl S¥fader el wrEATd
(C) To beat your personal best -
(D) To please your coach (D) s TREE G w0
23 [P.T.O.



52.

53.

The process of development of
strategy to achieve desired objectives
to solve problems and to facilitate

actions is known as :
(A) Organization
(B) Administration
(C) Planning

(D) Management

Which one of the following is an
example of a health and safety
consideration when setting up a

fitness test ?

(A) The same person records the
time taken to complete the test

by all the athletes

(B) The weight training equipment

is checked before being used

(C) Each person performing the test
is encouraged in exactly the

same way

(D) All those performing the test
should try to be the best

52.

53.

JUN - 71220/I1—C

T RIS oISl T et

qayv wugEel sfosd 3fese wied

a S o o} o
ShXTITHIGT YRUMAT TIhHEET UTshEl %—

AR

(A) He
(B) 9=mEA
(C) T

(D) a9

fheg 3= 92 AT Wielicidsh] v
Teh TR ST GRIRTAe 3SR 3TE 2

fal

(A) THME FKIT T6 TS Ao

EIET

(B) oS WIRT&T0T IYHIO STURUITATET

RIS GISIGIG]

(C) I HIOMT=IT Ycdsh gy

ThARE Fded el S

(D) =TT HIOM=AT GATA Gl H

HLOIE] TS el dIfEs
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54.

55.

56.

Which one of the following is an

example of an outcome goal ?

(A) A tennis player trying to

improve his serve

(B)

Trying to win a net ball match

against a local school

(C) A footballer trying to improve

her shooting technique

(D)

Trying to outwit an opponent
when passing the ball in
basketball

Total no. of matches in Round Robin

Tournament is found by :
(A) (N — 2)/2
(B) N(N - 1)
(€) N(N + 1)
D) (N + 2)/2

How many byes are allotted to 11

teams playing Round Robin

Tournament ?
(A) 15 Byes
(B) 6 Byes
(C) 8 Byes

(D) None of the above

54.

55.

56.

JUN - 71220/II—C
WrefieTish! I IaTEL0T RO e
I ?

(A) T 279 ware, @l gfdd
FURUAET YA Hld 3T

(B) ®ifieh wmesl foegy deafe €

fSehTam=n 9 a3

(C) T Wwealaue @ yfen a7
FUROIET G hidd 3T

(D) STEhesiaHe Hidga! g =g higi
TIYA AT FIA

T3 Ul meie TehYT A==t SEA TRl

HEd FeA

(A) (N - 2)2

(B) N(N - 1)
(C) N(N + 1)
(D) (N + 2)/2
e Ul wae TR FETEIR

o o

[ehdl

o N

qel a7
(A) 15 =S

(B) 6 =S

(C) 8 =™

(D) aficiieh! HIoQel T8t

(o
CIES
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58.

59.

60.

(A) 40, 60, higher
(B) 5, 10, higher
(C) 5, 10, lower

(D) 40, 60, lower

Which of the following is not a
strategy for behaviour change in
school setting ?

(A) Behavior contract

(B) Token system

(C) Reprimands

(D) Behavior games

climatic

Geographical and

conditions should be considered
when planning :

(A) Indoor activities

(B) Outdoor activities
(C) Child activities

(D) Old people activities

Throughout the history of sport
facility financing the money to build
facilities is wusually obtained
through :

(A) Taxes
(B) Bonds
(C) Corporate investment

(D) Facility revenues

57.

58.

59.

60.

JUN - 71220/I1—C

AfgdT= o9a A= g JEOueT
%

(A) 40, 60, ST
(B) 5, 10, Sr&
(C) 5, 10, HHt
(D) 40, 60, HH

YMend foaneat=a odq1d S5 TS
iUkl iU SEUE A ?

(A) T IR

(B) 2k Tgdl
(C) dmhig <ol

(D) I A T

¥ T st drifess nfor gamammn

oo

foaR e uifes
(A) TER 3IUHH

(B) 3T32eR 3UHH

ORISR RIETSIE

(D) JIgairsh Tohamehaiy

el gfawn foaqieer=n ¥qui sfaemm,
19 FguaEl giaen aHed: aean
Heseredl Sard -

(A) X

(B) sivsqg
(C) ®fURE Taavh
(D) gfaen 7egd
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61. Match A and B, and choose correct | 61. A 3TfoT B Jaa1 A0 A7 qA(F
option : IREEINE
A A’
(Olympic Year) (anifeifuer o)
(1) 2012 (1) 2012
(2) 2020 (2) 2020
(3) 2024 (3) 2024
(4) 2028 (4) 2028
B B
(Host) (3TTTSTeR)
(i) Tokyo, Japan () aferdt, SUE
(ii) Paris, France (i) TE, B
(iii) London, England (iii) A, TAS
(iv) Los Angeles, USA (iv) Y Toiferd, sfen
Codes : Hehdich :

1 2 6 @ 1 @ 6 @
A) Gi) @) G Go) (A) G@i) @) G G
B) @) @ @ (v B) @) @ @ Gv)
© @O @ Gv) GID) © @& @ Gv) @)
D) @ @ @) Gv) D) @) @ G Gv)
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62.

63.

64.

65.

The recreation process leads to :
(A) Having Fun

(B) Happiness

(C) Saving Money

(D) Socializing

Which one of the following is a social
that affect
participation in physical activities ?

(A) Family

reason might

(B) Equipment

(C) Weather

(D) Facilities

Recreation is defined as :

(A) The process of giving new life
to something

(B)
(&)

Bonding with mother nature

Any process that is non-work
related

(D)

Socializing with two or more
people

Countries that have organised both
Commonwealth and Asian Games :

(A) India
(B) Malaysia
(C) Indonesia

(D) Japan

62.

63.

64.

65.

JUN - 71220/I1—C

RS YiRames § diea Ad

(A) BT L0

(B) &g

(C) T8 ar=rer

(D) QrHTfSThTHTO

WRIER IYHH FEWRT HuIreR qiumd

HIOR GTATSTSR 0T oA 2

(A) Hd
(B) SUhIOI
(C) Bam

(D) Hfaen
TS € 9 uftwifod el TR

(A) &M Sffeq <uar Wik
(B) Fremmeft A1 S[eom
(C) UM Fog Fgeiell Hieman

(D) <H fohan 2Afeer TAehide ArHTSTeh IR oT

TSR o SARTERR T S Hheld
2

(A) HRd

(B) Hafer

(C) ESrferan

(D) SUE
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66.

67.

68.

The state of mind body response to

a situation is :

(A) Stressor

(B) Stress

(C) Anxiety

(D) Stimulus

Super compensation means :
(A) Fatigue

(B) Second wind

(C) Adaptation to load

(D) Oxygen debt

In comparison to other growth stages,

infancy is more a period of :

66.

67.

68.

JUN - 71220/I1—C

(A) AT Yedeh
(B) doma
(C) e
(D) =

U HEOTEIE WS

(A) kel

(B) e fae
(C) wRISh Sfeauit
(D) WEEE S

TR TUAT SR e SUAEN et
el Al € sl et 3rfuen

(A) Fast growth | v Hefed 3T,
(B) Consolidation (A) S ST
B) UasAtehLomei
(C) Mental development (B)
(C) e forehrami
(D) Social growth D) ; o
69. How many verticals have been .
oy . 69. Tos MU a1 HRHA Hd gNI FHfHa
created in Khelo India Programme R 3 fret 3
introduced by the Ministry of Youth 5 ehell leshel™ a4l
Affairs and Sports ? A e 2
(A) Ten verticals (A) <& aﬁm
(B) Eight verticals (B) T8 afdshe™
(C) Twelve verticals (C) 9w afémed
(D) Five verticals (D) 9= dfhor™
29 [P.T.O.



70.

71.

72.

When catching a ball your hand

knows when to grasp because :

(A) Your parasympathetic nervous

system inactive

(B) Alpha waves are being
generated
(C) Participating muscle receive

efferent signals from the brain

(D) Afferent signals inform your
hand that the ball is about to

make contact

The connective tissues surrounding

the fibres or cell is.....cccceeeeenne.
(A) Perimysium

(B) Epimysium

(C) Endomysium

(D) Myofibrils

A minimal stimulus causes the
individual muscle fibre to contract
to the same extent that a stronger

stimulus does, this phenomenon is

(A) All or one law
(B) All or none law
(C) All law except one

(D) None law except one

70.

71.

72.

JUN - 71220/I1—C

JE FAAHT GEHAT TIATN d Hegl

GRSl § hHYMHS hHosd 2

(A) gue=t i TesEd! TEeR feEam
SIAUTAT AT HEA HTH HEA

SR

(B) STTHI WE SU-TaHes

(C) HEumg SfeiHl Eom== Heheen
g TEATS

(D) Tt =4 T HTOMT Hehereh Hfect
ST gear qes

................... O

(A) WHMEREH

(B) wfamaferm

(C) TemmEferEH

)KEIIRIE

Tl med fhAE IR E g

faderra stTRfad gl fSident AT

Sfe e 4, @ oA ®UN

(A) Td fopen whren M

~

[4H

(B) 9d fohar iv= &t
(C) wat=n f&m Tawen e
(D) wivid= ARI oH TeRten e
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73.

74.

75.

The intensity of work load or oxygen
consumption in which anaerobic
metabolism is accelerated is
called.......cooovuueeeeeenen..

(A) Aerobic threshold

(B) Anaerobic threshold

(C) Metabolic threshold

(D) Lactic acid threshold

Contraction of the.................. muscles
elevates the first two ribs to help

during inspiration.

(A) Sternocleidomastoid
(B) Trapezius

(C) Extensors to back
(D) Scalene

As the right ventricle contracts,
valve closes,
preventing blood from back flowing

to the atrium.
(A) Vena cava
(B) Tricuspid valve
(C) Bicuspid valve

(D) Pulmonary valve

73.

74.

75.

JUN - 71220/I1—C

< (aV he ¥ o 2
HTAHRT=AT diddd Tehdl JToTaT =41

ITYKIAYes ATUTERR S SHTIer=HE R0l

(A) UUEE dvEee
(B) UUERed IvEleS
(C) =IATIT UTRIcS

D) TYU =T IvaIeS

YIEAETM =T o hIFesd Il ok

IAATITE  hTH
SIS T
(A) EAREmEEe
(B) fufge™

(C) Hréie duvm +
(D) ®hed

oc
[

h[U

Flohe AT SAl Ya8 8% T3

IS SIEft ISTel STatTenT ST = dred

(A) e (391 <hmEn)
(B) e
(C) fgga

(D) BFRHERS SO Sfctehl
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76.

77.

78.

79.

In extremely hot weather, the fluid
needs of an active person increase
by about :

(A) 2 times normal

(B) 3 times normal

(C) 6 times normal

(D) 10 times normal

A calorie is equal to the amount of
heat required to raise the
temperature of one gram of water

1°C and that difference is precised

(A) 14.5°C-15.5°C

(B) 20.5°C-21.5°C

(C) 0°C-1°C

(D) 37°C-38°C

One of the following does not belong
to fatty acid...........cccuunens

(A) Stearic acid

(B) Oleic acid

(C) Ascorbic acid

(D) Palmitic acid

Laboured breathing is known

(A) VO, max
(B) Dyspnea
(C) Vital capacity
(D) Second wind

76.

77.

78.

79.

JUN - 71220/I1—C

SIS 3v01 BT, foRamefiet saerdten
SATE TS HTEROT : TRl JHTONG aed ?
(A) FEFIT YHOT=AT T
(B) gHm= gHOTeA fawe
(C) 9= JHIOT=AT HeT9e

(D) 9™ YHIOMT=AT Selde
Teh UM 9109 d9eE 1°C A Srefauardre
ANTOMRT 39 Sl & Teh shaldl 39 W

(el

...................... @T (-”Lll_“,.”d |,-“ -qd

(A) 14.5°C-15.5°C
(B) 20.5°C-21.5°C
(C) 0°C-1°C

(D) 37°C-38°C

Y FATHES W TAdh] ThT=l THEY]
(A) TR =

(B) e A

(C) 3fwhifaen 3T

o~

(D) Y™

(A) VOo HHTA
(B) fegurn

(C) =|EZA Yehdl
(D) e fae
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80.

81.

82.

FTA fibers are.........cccceeuveennene.
(A) Oxidative

(B) Glycolytic

(C) Oxidative-Glycolytic

(D) Unclassified

Sideways bending of trunk is a

movement iN.........cceeeeeeueennnee.
(A) Frontal plane and Sagittal axis

(B)

Sagittal plane and Transverse

axis

(&)

Frontal plane and Transverse

axis
D)

Sagittal plane and frontal axis
The following bones form the elbow
joint :

(A) Scapula, Radius, Ulna

(B) Radius, Ulna, Humerus

(C) Ulna, Humerus, Scapula

(D) Humerus, Scapula, Radius

80.

81.

82.
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FTA ?iq\ %A .................. 311%?[
(A) sAfforrefess

(B) TAERIATAfCH

(C) siffraefess—Tamehiamates

(D) STafiehTuT

T TN T @ g

T g

(A) T<dd Tddd 9 GSied A9

(B) 99P¥ed Wadl & rEad 378

(C) e Jaa o IrEaH 314

(D) 9SMIEA 9ddd d Thed A

I e B Seliadl BISrn sl

Tl

(A) e, LI, Tl

(B) {Eierg, e, SHRY,

(C) 3T, s el

(D) T, T, EIeY

33

[P.T.O.



83.

84.

85.

86.

In case of second class lever force
ATIN IS uieiieiieiineiieieanenns than the

resistance arm.

(A) Shorter

(B) Longer

(C) Equal

(D) All of the above

The formula used for calculating

kinetic energy is.......ccccceeeeenvnennnn.
(A) mv

(B) mv?

(C) Y2 muv

D) Y% mv?

m/s is the SI unit of....................
(A) Speed and velocity

(B) Speed, velocity and acceleration
(C) Speed, but not velocity

(D) Velocity, but not speed

Earth’s gravitational acceleration

(A) 3.14

(B) 14.28 m/s
(C) 9.81 m/s?
(D) 14.28 m/s?

83.

84.

85.

86.

JUN - 71220/11—C
T YRR TRBHE YRS & Ui

(A) Tt g o

(B) T, O & @Rl
(C) I, U1 ST AR
(D) o, YT e AR

(A) 3.14
(B) 14.28 m/s
(C) 9.81 m/s?

(D) 14.28 m/s?
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87. At the time of release of Discus : | 87. 9l TSI dod :
(A) Centripetal force is more than (A) PR Tl PSTAH! STATIT ST
centrifugal force 3T
(B) Centrifugal force is more than (B) SR o S semen S
centripetal force S
(©) fii:;c;iseect;ieaziocentrifugal (C) S @ ST e T A
(D) None of the above (D) HIHT FI T
88. Lift force created by spinning object 88. THTeH! oI g ﬁ-qu BT SeeTer
is called.......ccccoueruvenennnn e A FeAleel S
(A) Newton’s Law (A) =gzTa fram
(B) Dalton Law (B) Seed oM
(C) Magnus effect (C) H=9 qiomq
(D) Buoyancy (D) SE=T
89. Top spin causes...........ccceuvveeennee.. 89. 2™ f@‘—pﬂ% """""""""" i
(A) Decrease in height of bounce (A) IS I wed
(B) Increase in height of bounce (B) ST S ded
(C) Decrease in speed after bounce (C) SHAAT Tt T2
(D) None of the above D) FeiE FE T8
90. Range of motion of. a joint is 9o, e = R wieATa s
measured by an instrument ,\ - -
called......ccocevevueuennne. BeTeTelrea fSd A el S
(A) Pedometer (A4) FeHI
(B) Goniometer (B) T
(C) Accelerometer (C) STeReRIHTT
(D) Radar Gun D) ER ™
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91.

92.

93.

94.

In sports psychology, mental

practice means :

(A) Mental Planning

(B) Mental Rehearsal

(C) Mental Strategy

(D) Mental Image

Time perception is a............ccuuee.....
(A) Psychomotor ability

(B) Fitness ability

(C) Motor ability

(D) Functional ability
Competition and cooperation is..........
(A) Biological motivation

(B) Psychological motivation

(C) Secondary motivation

(D) Social motivation
Encouragement by spectators is a:
(A) Social incentive

(B) Monetary incentive

(C) Reward incentive

(D) Social competitive incentive

91.

92.

93.

94.

JUN - 71220/I1—C

Hie] AU AFES Sd U

o o

(A) HEMER AN

(B) HHfg® T

(C) wFfee SEvaHd]

(D) HAAM™E® Fiadr

(A) HHTSTR  GIcHTgH

(B) e Hrame

(C) ferg Wreame

(D) TS HieTEs  Wee
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95. Attitudinal changes occur due to | 99 g a5 Hes Fa
the...ooovveeeieeeieeee, ( A) AEHS 3TN
(A) Cognitive learning (B) Fere -

(B) Effective learning

(C) wmarcHes TeT
(C) Affective learning

(D) =’i« w4t
(D) All the above

96. Match List I with List II and select 96. A SIS A
the correct answer from the codes L |
given below : (1) I 3

List I
" (2) shiel Ul
(1) Motivational theory
(3) eI IUU
(2) Play theory
(3) Learning theory (4) SEREE STl
(4) Personality theory H\?ﬂ 1
List II (@) ARSI SOl
(z) Psychoanalytic theory (i1) Tﬁﬁ"l’@ EEEk
(i1) Attribution theory ({i7) TSR 3199 U9l
(i11) Social learning theory (iv) 3MRE YU
(iv) Operant theory HadiaE -
Codes :
o @2 6 @
o 2 & @
(A) Gv) G G) @)
(A) (v) @) G @)
®) @ ) Gid) Gi) B @) G @
© Gi) G) @ © ) @ w
D @) @ ) @) D) @ @ Go) @)
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97. In skill learning the information

98.

processing model is comprised of four
components. Arrange them in

sequential order :

(I) Decision-making
(II) Input

(IIT) Feedback

(IV) Output

Codes :

A @O dan daimn av)
B) I av) a @
(© ) (D (V) (D)
D) av) amn @

Cognitive process consists of :
(I) Sensation

(IT1) Thinking

(ITI) Perception

(IV) Problem solving

Identify the correct sequence :
Codes :
A @D
(B) (II) Iv) @
(C) av) @O dII) D

(III) dI) (IV)
(I1I)

D) dID In av) @

JUN - 71220/I1—C

97. HINCH ALHIAM Hifed! Hfshan TL=md

98.

IR HEHET GAEYT STl AT AT HHMA
1 L

IO fofg w0
(1) SRR

(ITT) Feam ot

(IV) whietd
Hehdleh :
A @
1) (Iv)
@
IV) (IID)

an dam av)
(D
(Iv) (III)
(D

JHcH® Ifshad Yeid Hedh wHIfase
SIESI I

(I) Hae

D) o= =70
(I1T) SFersie]

(IV) §9& Smed
Jrg %Y 3@l :
Hehdich :
A) (D

(B)
()
(D)

(ID
(ID
(ID

(ITDH I V)
(B) (II) av) () dID
(C) Iv) (D dID (ID)
D) dII) dn avy) @
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99.

100.

Match List I with List IT and select
the correct answer from the codes
given below :

List 1
(I) Inverted U hypothesis
(IT) Aggression
(ITI) Leadership
(IV) Motivation

List II
(1) Achievement
(2)
3)
4)
Codes :
(D D
L @
4 3
e @ @O @ O3
O & @ @ @
In the childhood, individual’s

behaviour is most influenced by :

Autocratic style
Anxiety

Instrumental

(I1T)
3)
(1)

(Iv)
4)
(2)

(A)
(B)

(A) Community
(B) School
(C) Peer group
D) Family

JUN - 71220/I1—C

99. I S[SAl Ml

et 1
(D) 3Sea g qiehed
(IT) 3ThHRA
(I1T) gl
(IV) SXom
e 10

(1) A
(2) TRIRTERIC
(3) fuam
(4) 9EH
Hehdieh :

I dn dn adav)
Aa o @ 6 @
B @ @ @O @
©c @ O @ O
D 3 @ @ @

100. ST, STADT T eevenvenvenenn 3

sifyer gwifead 8
(A) gaS
(B) =mea
(C) Hedall e
(D) e
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ROUGH WORK
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